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« Diamond: is one of the world’s major non-renewable na
vast economic influences worldwide.
« The current largest producers of diamonds are B
Russia.
- Estimated US$13 billion worth of rough diamonc
65% sourced from the African countries.
- Two main uses of diamonc
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« Jewellery diamonds can fetch a highly desirable premium price.

- By appealing to the customers' sentiment, diamonds are one of the most precious luxury
items and enjoy almost global acceptance.

- The strength of the diamond industry is often attributed to the history of one company; De

Beers.

- In the 1880s, De Beers; founded by Cecil Rhodes, used to be a highly successful and effective

controller of the diamond market, having developed a unique purchasing and marketing cartel

that has influenced prices in the market virtually undisturbed for almost a century.

« Global diamond jewellery (retail) sales continue to grow, currently worth in excess of US$72

billion every year, increasing 3 fold in the past 25 years.




Diamond Business Model
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Upstream - Mines Middle Market - Downstream - Retail
Cutting & Polishing




